Contract Committee Review Request MUST BE COMPLETED IN FULL

than an individual.

MUST BE COMPLETED IN FUL		Date: 7.28.2	21	
Contract/Agraement Vander:	McGraw Hill			IS THIS A NEW
Contract/Agreement Vendor:	Name of Vendor			VENDOR? IF SO,
	Anthony Greeson		press car n	PLEASE PROVIDE :
	Contact Person	Phone N	Number	W9
	Address			And
				Vendor
	City	State	Zip	Registration
	anthony.greeson@mhed Email address	ducation.com		g.st. atto
	Citian address		[
	Date of services			
Person Submitting Contract/A	greement for Review	√ Sharon James		ESC
Terson Submitting contracty	Breement for herical	Name		Site
		Online Bushasa		
Reason for Review: (New Agre	ement, Renewal): <u>\</u>	Offilitie Purchase		
Audience/Group to benefit fr	om Contract/Agreem	ent:		
Routing Approval: PLEASE	_		MEMBER BEFOR	E SENDING TO
STACIE CHASE				
Principal and Director or Adm	inistrator:	Share Camer	r	
	Signatu	re ()		
Does this Contract/Agreemer	it utilize technology?	No Yes	\checkmark	
Has it been reviewed by the (cer? No Yes		
•				
If yes, Approved by:	113			
Landauskiu Tanus Mauskau	(Signature) Technology /Ap	oprove!		
Leadership Team Member:	Sign	nature		
Funding Source:	F			
Desc	ription		OCAS Coding	
Process: PLEASE FOLLO				
	ement is reviewed an	d approved by site Princi	pal/ Director/	
Administrator.			17 1	
		eement is reviewed and a		logy.
		nd attach to Contract/Ag		
		a comment in the Notes	section that says,	i.
"Please hold	req pending board a	Date of Board Mee	ting	
5. Attach this form wi	th Contract/Agreeme		6	
		ber will review and subm	nit to the Contrac	t Committee
7. Keep copy for your				
The Contract/Agreement should		2 weeks prior to a Board M	eeting to ensure p	lacement on
the Agenda. The Contract Con				
the amount, must be first app				
for approval and signature. Th				

Chase. By following this process, the liability of entering into an agreement is placed with the district rather

MEMORANDUM

To: Dr. Janet Vinson

From: Karla Dyess

Date: 7.28.21

Re: McGraw Hill/ Social Studies Curriculum for Secondary

SUBJECT

Accept and approve the PURCHASE of Social Studies online curriculum from McGraw Hill. James

ENCLOSURES/ATTACHMENTS

Quote

SUMMARY

Purchasing Social Studies curriculum from McGraw Hill who will provide materials over the next 6 years. Cost to the district is \$324,320.28

FUNDING

Textbook

RECOMMENDATION

Approve



QUOTE PREPARED FOR:

Broken Arrow Sch Dist 3 701 SOUTH MAIN BROKEN ARROW, OK 74012 ACCOUNT NUMBER: 364330

CONTACT:

Heather Goodenough hdgoodenough@baschools.org

SUBSCRIPTION/DIGITAL CONTACT:

Heather Goodenough hdgoodenough@baschools.org

SALES REP INFORMATION:

Anthony Greeson anthony.greeson@mheducation.com

Section Summary		Value of All Materials	Free Materials	Product Subtotal
Oklahoma Social Studies		\$0.00	\$0.00	\$0.00
Centennial		\$45,563.46	(\$1,466.01)	\$44,097.45
Childers		\$28,749.99	(\$977.34)	\$27,772.65
Oliver		\$34,501.11	(\$1,466.01)	\$33,035.10
Oneta Ridge		\$58,808.43	(\$1,954.68)	\$56,853.75
	PRODUCT TOTAL*	\$167,622.99	(\$5,864.04)	\$161,758.95
	ESTIMATED S&H**			TBC
	ESTIMATED TAX**			TBC
	GRAND TOTAL*			\$161,758.95

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:

Thank you for partnering with us?

Graw
Hill

Please order through Thompson School Book Depository.

Shipping (s. 1 9% **** Pick to gris, 1%

Please Make P.O. Out fee. Thompson School Book Depository.

Remit Quote 6 P.O. to shelly grabble come or fas to 405-524-5443

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

THOMPSON SCHOOL BOOK DEPOSITORY At Thompson School Book, service sets us apart. Call Usl (800) 456-2828

Important Note!

Shipping and processing fees are charged by Thompson School Book
Depository and are NOT represented on this quote. Please call Thompson for an estimate of this cost.

QUOTE DATE:

07/26/2021

ACCOUNT NAME: Broken Arrow Sch Dist 3

EXPIRATION DATE: 09/09/2021

QUOTE NUMBER:

AGREE-07262021-005

ACCOUNT #: 364330

PAGE #:

^{**}Shipping and handling charges are not included in the quote total. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price Free	Materials Li	ne Subtotal
Oklahoma Social Studies					
	Oklahom	a Social St	tudies Subtotal:	\$0.00	\$0,0
Centennial					70.0
CUS OK US HIST & GEOG MODERN TIMES STDNT LRNG CTR WSTSNC SNCBLST DGTL BNDL 6YSUB	978-0-07-684093-9	241	\$118.95	\$0.00	\$28,666.95
CUS OK DISC WLD GEOG WSTRN HMSPHR SLC STDYSNC SNCBLST DGTL BNDL 6YR SUBSC	978-0-07-682211-9	150	\$102.87	\$0.00	\$15,430.50
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR TE	978-0-07-693405-8	3	\$127.98	\$383.94	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR RDNG ESSNTLS STDY GD ANSWR KEY	978-0-07-693409-6	3	\$14.10	\$42.30	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR CHPTR TESTS AND LESSON QUIZZES	978-0-07-693413-3	3	\$24.33	\$72.99	*Free Materials
CUS OK DISCOVERING WORLD GEOGRAPHY WESTERN HEMISPHERE DGTL TCHR LESSON CENTER6YR	978-0-07-693418-8	3	\$322.26	\$966.78	*Free Materials
	1				
Childers		Cent	ennial Subtotal:	\$1,466.01	\$44,097.45
CUS OK US HIST & GEOG MODERN TIMES STDNT LRNG CTR	070 0 07 00 1000 0	T	T		
WSTSNC SNCBLST DGTL BNDL 6YSUB	978-0-07-684093-9	147	\$118.95	\$0.00	\$17,485.65
CUS OK DISC WLD GEOG WSTRN HMSPHR SLC STDYSNC SNCBLST DGTL BNDL 6YR SUBSC	978-0-07-682211-9	100	\$102.87	\$0.00	\$10,287.00
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR TE	978-0-07-693405-8	1 2	\$127.98	\$255.96	*Free Materials
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR RDNG ESSNTLS STDY GD ANSWR KEY	978-0-07-693409-6	2	\$14.10	\$28.20	*Free Material
	 				
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR CHPTR TESTS AND LESSON QUIZZES	978-0-07-693413-3	2	\$24.33	\$48.66	*Free Material
	978-0-07-693413-3 978-0-07-693418-8	2	\$24.33 \$322.26	\$48.66 \$644.52	*Free Material
CHPTR TESTS AND LESSON QUIZZES CUS OK DISCOVERING WORLD GEOGRAPHY WESTERN		2	\$322.26	\$644.52	*Free Materials
CHPTR TESTS AND LESSON QUIZZES CUS OK DISCOVERING WORLD GEOGRAPHY WESTERN		2			

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

Al Thompson School Book, service sets us apart Coll Usl (800) 456-2828

Important Note! Shipping and processing fees are charged by Thompson School Book Depository and are NOT represented on this quote. Please call Thompson for an estimate of this cost.

QUOTE DATE:

07/26/2021

ACCOUNT NAME: Broken Arrow Sch Dist 3 EXPIRATION DATE: 09/09/2021

QUOTE NUMBER:

AGREE-07262021-005

ACCOUNT #: 364330



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
CUS OK DISC WLD GEOG WSTRN HMSPHR SLC STDYSNC SNCBLST DGTL BNDL 6YR SUBSC	978-0-07-682211-9	150	\$102.87	\$0.00	\$15,430.50
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR TE	978-0-07-693405-8	3	\$127.98	\$383.94	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR RDNG ESSNTLS STDY GD ANSWR KEY	978-0-07-693409-6	3	\$14.10	\$42.30	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR CHPTR TESTS AND LESSON QUIZZES	978-0-07-693413-3	3	\$24.33	\$72.99	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WESTERN HEMISPHERE DGTL TCHR LESSON CENTER6YR	978-0-07-693418-8	3	\$322.26	\$966.78	*Free Material

		Oli	ver Subtotal:	\$1,466.01	\$33,035.10
Oneta Ridge					
CUS OK US HIST & GEOG MODERN TIMES STDNT LRNG CTR WSTSNC SNCBLST DGTL BNDL 6YSUB	978-0-07-684093-9	174	\$118.95	\$0.00	\$20,697.30
CUS OK DISC WLD GEOG WSTRN HMSPHR SLC STDYSNC SNCBLST DGTL BNDL 6YR SUBSC	978-0-07-682211-9	100	\$102.87	\$0.00	\$10,287.00
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR TE	978-0-07-693405-8	2	\$127.98	\$255.96	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR RDNG ESSNTLS STDY GD ANSWR KEY	978-0-07-693409-6	2	\$14.10	\$28.20	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR CHPTR TESTS AND LESSON QUIZZES	978-0-07-693413-3	2	\$24.33	\$48.66	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WESTERN HEMISPHERE DGTL TCHR LESSON CENTER6YR	978-0-07-693418-8	2	\$322.26	\$644.52	*Free Material
<u>Sequoyah</u>					
CUS OK US HIST & GEOG MODERN TIMES STDNT LRNG CTR WSTSNC SNCBLST DGTL BNDL 6YSUB	978-0-07-684093-9	131	\$118.95	\$0.00	\$15,582.45
CUS OK DISC WLD GEOG WSTRN HMSPHR SLC STDYSNC SNCBLST DGTL BNDL 6YR SUBSC	978-0-07-682211-9	100	\$102.87	\$0.00	\$10,287.00
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR TE	978-0-07-693405-8	2	\$127.98	\$255.96	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR RDNG ESSNTLS STDY GD ANSWR KEY	978-0-07-693409-6	2	\$14.10	\$28.20	*Free Material

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

Al Thompson School Book, service sets us apart Call Us! (800) 456-2828

Important Note! Shipping and processing fees are charged by Thompson School Book Depository and are NOT represented on this quote. Please call Thompson for an estimate of this cost.

QUOTE DATE:

07/26/2021

ACCOUNT NAME: Broken Arrow Sch Dist 3

EXPIRATION DATE: 09/09/2021

QUOTE NUMBER:

AGREE-07262021-005

ACCOUNT #: 364330



ISBN	Qty	Unit Price	Free Materials	Line Subtotal
978-0-07-693413-3	2	\$24.33	\$48.66	*Free Materials
978-0-07-693418-8	2	\$322.26	\$644.52	*Free Materials
	978-0-07-693413-3	978-0-07-693413-3 2	978-0-07-693413-3 2 \$24.33	978-0-07-693413-3 2 \$24.33 \$48.66

\$25,869.45

Oneta Ridge Subtotal:

\$1,954.68

\$56,853.75

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

Call Us (800) 456-2828

Important Note! Shipping and processing fees are charged by Thompson School Book Depository and are NOT represented on this quote. Please call Thompson for an estimate of this cost.

QUOTE DATE:

SEND ORDER TO:

07/26/2021

ACCOUNT NAME: Broken Arrow Sch Dist 3

EXPIRATION DATE: 09/09/2021

QUOTE NUMBER:

AGREE-07262021-005

ACCOUNT #: 364330



QUOTE PREPARED FOR:

Broken Arrow Sch Dist 3 701 SOUTH MAIN BROKEN ARROW, OK 74012 ACCOUNT NUMBER: 364330

CONTACT:

Heather Goodenough hdgoodenough@baschools.org

VALUE OF ALL MATERIALS	\$168,425.37
FREE MATERIALS	(\$5,864.04)
PRODUCT TOTAL*	\$162,561.33
ESTIMATED SHIPPING & HANDLING**	TBD
ESTIMATED TAX**	TBD
GRAND TOTAL	\$162,561.33

SUBSCRIPTION/DIGITAL CONTACT:

Heather Goodenough hdgoodenough@baschools.org

Comments:
Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
*Shipping and handling charges are not included in the quote total. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. fapplicable, actual tax charges will be applied at time of order.
Ferms of Service: By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each ocated in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, he initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.
Ferms Of Service
Provisions required by Subscriber State law
ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no onger accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by
isiting www.mhecoast2coast.com).
School Purchase Order Number:
Name of School Official (Please Print) Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

THOMPSON
SCHOOL BOOK DEPOSITIONY
At Thompson School Book, service sets us apart.
Call Usi (800) 456-2828

Important Note!
Shipping and processing fees are charged by Thompson School Book
Depository and are NOT represented on this quote. Please call Thompson for an estimate of this cost.

QUOTE DATE:

07/26/2021

ACCOUNT NAME: Broken Arrow Sch Dist 3

EXPIRATION DATE:

09/09/2021

QUOTE NUMBER:

AGREE-07262021-002

ACCOUNT #: 364330

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
SEQUOYAH MS	-				
CUS OK DSCVRNG WLD GEOG WSTRN HMSPHR STDNT SUITE STDYSNC SNCBLST BNDL 6YR SUBSC	978-0-07-682229-4	100	\$123.66	\$0.00	\$12,366.00
CUS OK DISC WLD GEOG WSTRN HMSPHR SLC STDYSNC SNCBLST DGTL BNDL 6YR SUBSC	978-0-07-682211-9	138	\$102.87	\$0.00	\$14,196.06
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR TE	978-0-07-693405-8	2	\$127.98	\$255.96	*Free Materials
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR RDNG ESSNTLS STDY GD ANSWR KEY	978-0-07-693409-6	2	\$14.10	\$28.20	*Free Materials
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR CHPTR TESTS AND LESSON QUIZZES	978-0-07-693413-3	2	\$24.33	\$48.66	*Free Materials
CUS OK DISCOVERING WORLD GEOGRAPHY WESTERN HEMISPHERE DGTL TCHR LESSON CENTER6YR	978-0-07-693418-8	2	\$322.26	\$644.52	*Free Materials

SEQUOYAH MS Subtotal:

\$977.34

\$26,562.06

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

Call Usi (800) 456-2828

important Note! Shipping and processing fees are charged by Thompson School Book Depository and are NOT represented on this quote. Please call Thompson for an estimate of this cost.

QUOTE DATE:

07/26/2021

ACCOUNT NAME: Broken Arrow Sch Dist 3

EXPIRATION DATE: 09/09/2021

QUOTE NUMBER:

SEND ORDER TO:

AGREE-07262021-002

ACCOUNT #: 364330



ing."

ototal \$18,549.00

\$15,636,24

Free Materials Free Materials

Free Materials

Free Materials

\$34,185.24

Product Description OKLAHOMA SOCIAL STUDIES	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
CENTENNIAL MS	OKLAHOMA S	SOCIAL STU	JDIES Subtotal:	\$0.00	\$0.00
CLITERIAL RIG					
CUS OK DSCVRNG WLD GEOG WSTRN HMSPHR STDNT SUITE STDYSNC SNCBLST BNDL 6YR SUBSC	978-0-07-682229-4	150	\$123.66	\$0.00	\$18,549.00
CUS OK DISC WLD GEOG WSTRN HMSPHR SLC STDYSNC SNCBLS' DGTL BNDL 6YR SUBSC	978-0-07-682211-9	209	\$102.87	\$0.00	\$21,499.83
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR TE	978-0-07-693405-8	3	\$127.98	\$383.94	*Free Materials
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR RDNG ESSNTLS STDY GD ANSWR KEY	978-0-07-693409-6	3	\$14.10	\$42.30	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR CHPTR TESTS AND LESSON QUIZZES	978-0-07-693413-3	3	\$24.33	\$72.99	*Free Material
CUS OK DISCOVERING WORLD GEOGRAPHY WESTERN HEMISPHERE DGTL TCHR LESSON CENTERSYR	978-0-07-693418-8	3	\$322.26	\$966.78	*Free Material

		CENTENNIAL	MS Subtotal:	\$1,466.01	\$40,048.83
ERNEST CHILDERS MS					
CUS OK DSCVRNG WLD GEOG WSTRN HMSPHR STDNT SUITE STDYSNC SNCBLST BNDL 6YR SUBSC	978-0-07-682229-4	100	\$123.66	\$0.00	\$12,366.00
CUS OK DISC WLD GEOG WSTRN HMSPHR SLC STDYSNC SNCBLST DGTL BNDL 6YR SUBSC	978-0-07-682211-9	186	\$102.87	\$0.00	\$19,133.82
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR TE	978-0-07-693405-8	2	\$127.98	\$255.96	*Free Materials
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR RDNG ESSNTLS STDY GD ANSWR KEY	978-0-07-693409-6	2	\$14.10	\$28.20	*Free Materials
CUS OK DISCOVERING WORLD GEOGRAPHY WSTRN HMSPHR CHPTR TESTS AND LESSON QUIZZES	978-0-07-693413-3	2	\$24.33	\$48.66	*Free Materials
CUS OK DISCOVERING WORLD GEOGRAPHY WESTERN HEMISPHERE DGTL TCHR LESSON CENTERBYR	978-0-07-693418-8	2	\$322.26	\$644.52	*Free Materials

ERNEST CHILDERS MS Subtotal: \$977.34 \$31,499.82 OLIVER MS

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

Important Note! Important Note!
Shipping and processing fees are charged by Thompson School Book
Depository and are NOT represented on this quote. Please call Thompson for an estimate of this cost.

QUOTE DATE:

07/26/2021

ACCOUNT NAME: Broken Arrow Sch Dist 3

EXPIRATION DATE: 09/09/2021

QUOTE NUMBER:

AGREE-07262021-002

ACCOUNT #: 364330



MY

Because learning changes everything."

QUOTE PREPARED FOR:

Broken Arrow Sch Dist 3 701 SOUTH MAIN BROKEN ARROW, OK 74012 ACCOUNT NUMBER: 364330

CONTACT:

Heather Goodenough hdgoodenough@baschools.org

SUBSCRIPTION/DIGITAL CONTACT:

Heather Goodenough hdgoodenough@baschools.org

SALES REP INFORMATION:

Anthony Greeson anthony.greeson@mheducation.com

Section Sum	mary	Value of All Materials	Free Materials	Product Subtotal
OKLAHOMA SOCIAL STUDIES		\$0.00	\$0.00	\$0.00
CENTENNIAL MS		\$41,514.84	(\$1,466.01)	\$40,048.83
ERNEST CHILDERS MS		\$32,477.16	(\$977.34)	\$31,499.82
OLIVER MS		\$35,651.25	(\$1,466,01)	\$34,185.24
ONETA RIDGE MS		\$31,242.72	(\$977.34)	\$30,265,38
SEQUOYAH MS		\$27,539.40	(\$977.34)	
	PRODUCT TOTAL*	\$168,425.37	(\$5,864.04)	
	ESTIMATED S&H**	a etk Website		TBC
	ESTIMATED TAX**			TBC
	GRAND TOTAL*			\$162,561,33

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:

Thank you for partnering with us!

Graw

Please order through Thompson School Book Depository

Whoping is 1.99, *** Fish us is 1%

Please Make P.D. Outter | Thompson School Book Depository

Result Qualet 4 P.D. to whith pitchalk. com or jes 1s 405-524-5442

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

THOMPSON
SCHOOL BOOK DEPOSITORY
AI Thompson School Book, service sets us apart
Call Usi (800) 456-2828

Important Note!
Shipping and processing fees are charged by Thompson School Book Depository and are NOT represented on this quote. Please call Thompson for an estimate of this cost.

QUOTE DATE:

07/26/2021

ACCOUNT NAME: Broken Arrow Sch Dist 3

EXPIRATION DATE:

09/09/2021

QUOTE NUMBER:

AGREE-07262021-002

ACCOUNT #: 364330

PAGE #:

^{**}Shipping and handling charges are not included in the quote total. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.



QUOTE PREPARED FOR:

Broken Arrow Sch Dist 3 701 SOUTH MAIN BROKEN ARROW, OK 74012 ACCOUNT NUMBER: 364330

CONTACT:

Heather Goodenough hdgoodenough@baschools.org

VALUE OF ALL MATERIALS	\$167,622.99
FREE MATERIALS	(\$5,864.04)
PRODUCT TOTAL*	\$161,758.95
ESTIMATED SHIPPING & HANDLING**	TBD
ESTIMATED TAX**	TBD
GRAND TOTAL	\$161,758.95

SUBSCRIPTION/DIGITAL CONTACT:

Heather Goodenough hdgoodenough@baschools.org

Comments:
* Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
**Shipping and handling charges are not included in the quote total. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.
Terms of Service:
By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.
Terms Of Service
Provisions required by Subscriber State law
ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by
visiting www.mheducation.com (or www.mhecoast2coast.com).
School Purchase Order Number:
Name of School Official (Please Print) Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

THOMPSON SCHOOL BOOK DEPOSITIONY All Thompson School Book, service sets us apart Call Usl (800) 456-2828

Important Note!
Shipping and processing fees are charged by Thompson School Book Depository and are NOT represented on this quote. Please call Thompson for an estimate of this cost.

QUOTE DATE:

07/26/2021

ACCOUNT NAME: Broken Arrow Sch Dist 3

EXPIRATION DATE:

09/09/2021

QUOTE NUMBER:

AGREE-07262021-005

ACCOUNT #: 364330

PAGE #: